
Thread (1) BALL JOINT 1/4-28 LONG LG 3342584 onto 
end of rod on end of directional cable, as shown above. 
Tighten.

Get (1) WELD-LEVER FWD/AFT CABLE (3342568).

MODEL: WC-07 5550 SWEEPER SCRUBBER
DOCUMENTED BY: John Myers 
PAGE NUMBER:   25
DATE: 12/5/06

3342584

3342568

Parts: 3342568



MODEL: WC-07 5550 SWEEPER SCRUBBER
DOCUMENTED BY: John Myers 
PAGE NUMBER:   26
DATE: 12/5/06

Align WELD-LEVER FWD/AFT CABLE 3342568 with welded bracket in right-front corner of floor of driver’s 
compartment and insert (2) BUSHING-FLING 17/32, NYLON 3343084 through holes to mount WELD-LEVER FWD/AFT 
CABLE, as shown at right.

3343084
3342568



Parts:         3400467 / 712683 / 3400088

Get (1) SCR-HEX,5/16-18X3.00 GR 5 (3400467), 
(1) NUT-HEX NYLOC 5/16-18 SS (712683) and (2) 
WASHER-FLAT 5/16 ID X .688 OD  (3400088). 
Put flat-washer on SCR-HEX,5/16-18X3.00 GR 5 
and insert through bushings and WELD-LEVER 
FWD/AFT CABLE. Secure on back with NUT-HEX 
NYLOC 5/16-18. Tighten.

Insert end of BALL JOINT 1/4-28 LONG LG into 
bottom of WELD-LEVER FWD/AFT CABLE and 
secure with (1) WASHER-LOCK 1/4 SPLIT ZP 
3400103 and (1) NUT-HEX 1/4-28 ZP 3400180. 
Tighten.

Tools: (2) ½” Wrenches / 7/16” Wrench

3400467

712683

3400088

3400180

3400103

MODEL: WC-07 5550 SWEEPER SCRUBBER
DOCUMENTED BY: John Myers 
PAGE NUMBER:   27
DATE: 12/5/06



Thread (2) NUT-HEX 1/4-28 ZP 
3400180 onto (1) ROD-THREADED 
1/4-28 X 2.5 LG 3323691.

Thread (1) BALL JOINT 1/4-28 STD LG 
3342225 onto one end of ROD-
THREADED and (1) BALL JOINT 1/4-
28 LONG LG 3342584 onto other end, as 
shown above.

Tools: 8mm / 7/16” Gear  Wrench

3400180

3323691

3342225

3342584

3400180

3400103

3342584

3342225

Insert end of BALL JOINT 1/4-28 
LONG LG through top arm of WELD-
LEVER FWD/AFT CABLE & secure w/ 
(1) WASHER-LOCK 1/4 SPLIT ZP 
3400103 and (1) NUT-HEX 1/4-28 ZP 
3400180. Tighten.

Place (1) WASHER-LOCK 1/4 SPLIT 
ZP 3400103 onto BALL JOINT 1/4-28 
STD LG 3342225 for later.

MODEL: WC-07 5550 SWEEPER SCRUBBER
DOCUMENTED BY: John Myers 
PAGE NUMBER:   28
DATE: 12/5/06

3400103


